D1vISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)
DIVISION

Name:

Time:

Score:

) 1562.4 + 6 =

22) —3395.7 = 0.7 =

243) —3.7052 = 0.04 =

20 —412.7 + 10 =

25 —0.00684 + 0.04 =

2160 —2.7426 + 0.006 =

247) (0.07916 = 0.02 =

28 3,437 +1 =

219) —01.848 - 0.8 =

2500 —23.379 + 0.03 =

251) —1.3392 - 0.004 =

252)0.2108 <+ 0.004 =

253) 4181 =5 =

254) 15421 =7 =

255)(0.003231 < 0.001 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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264)
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268)

269)

270)

34.82 +0.005 =

2479.2 -4 =

52.19 + 10 =

—9.946 + 0.002 =

—151.11 + 0.3 =

199.78 =+ 0.02 =

—2.7902 = 0.07 =

—2271.5+0.5 =

—3843 +9 =

—492.1 +1 =

—12.752 + 0.008 =

—6.942 + 0.003 =

—0.256 = 0.002 =

0.07501 = 0.01 =

—5172 +8 =
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